
03/12/2014

VOLKSWAGEN - LUPO (1999 - 2006)

 

Notes:
For anti roll bar size measure bar where bush sits as diameter varies along the bar length.●

PFF 8520810, PFF 85209, PFF 8520920, PFF 8540318, PFF 8540320 & PFF 8540322 do not fit the 1.2●

3L TDi models or the 1.4 FSi models with chassis codes ANY, AYZ & ARR.
PFF 85920 does not fit models with engine codes AMF (1.4 diesel) ANY & AYZ (3L TDi)●

PRODUCT PRICING INFORMATION

The prices shown on our website are per bush.
To get the total pack price you will need to multiple this price by the number of bushes per vehicle.
Bush Price x Qty Per Car = Pack Price

In addition to the Road Series parts listed please check the Black Series website for other bushes suitable for this car that
may be more suited to Track/Race use.

Bush description Quantity
Per Car

Diagram
Reference

Part
Number

Retail Price
Each

Front Wishbone Inner Bush (front) 2 1 PFF 85401   
  

Front Wishbone Rear Bush
 Click for fitting instructions 2 2 PFF 85402   

  

Front Anti Roll Bar Bush 18mm 2 3 PFF 8540318   
  

http://5.159.225.202/road-series/products/Volkswagen-37/t1.html
http://5.159.225.202/road-series/products/Lupo (1999 - 2006)-1137/1.html
http://5.159.225.202/resize_image.php?image=Diag_1137.jpg&w=450
http://5.159.225.202/road-series/product-details/Front Wishbone Inner Bush (front)/1103.html
http://5.159.225.202/road-series/product-details/Front Wishbone Inner Bush (front)/1103.html
http://5.159.225.202/road-series/product-details/Front Wishbone Rear Bush/1188.html
http://5.159.225.202/road-series/product-details/Front Wishbone Rear Bush/1188.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 18mm/1964.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 18mm/1964.html


Front Anti Roll Bar Bush 20mm 2 3 PFF 8540320   
  

Front Anti Roll Bar Bush 22mm 2 3 PFF 8540322   
  

Front Eye Bolt Mounting Bush 10mm (M8
nut) 2 4 PFF 8520810   

  

Front Anti Roll Bar Eye Bolt Bush 18mm 2 5 PFF 85209   
  

Front Anti Roll Bar Eye Bolt Bush 20mm 2 5 PFF 8520920   
  

Lower Engine Mount Large Bush 1 6 PFF 85920   
  

Rear Beam Mounting Bush 2 7 PFR 85615   
  

PowerAlign Camber Bolt Kit (12mm)
 Click for fitting instructions 1 PFA 10012   

  

http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 20mm/1965.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 20mm/1965.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 22mm/2087.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Bush 22mm/2087.html
http://5.159.225.202/road-series/product-details/Front Eye Bolt Mounting Bush 10mm (M8 nut)/1957.html
http://5.159.225.202/road-series/product-details/Front Eye Bolt Mounting Bush 10mm (M8 nut)/1957.html
http://5.159.225.202/road-series/product-details/Front Eye Bolt Mounting Bush 10mm (M8 nut)/1957.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Eye Bolt Bush 18mm /1962.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Eye Bolt Bush 18mm /1962.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Eye Bolt Bush 20mm /1961.html
http://5.159.225.202/road-series/product-details/Front Anti Roll Bar Eye Bolt Bush 20mm /1961.html
http://5.159.225.202/road-series/product-details/Lower Engine Mount Large Bush/10965.html
http://5.159.225.202/road-series/product-details/Lower Engine Mount Large Bush/10965.html
http://5.159.225.202/road-series/product-details/Rear Beam Mounting Bush/1526.html
http://5.159.225.202/road-series/product-details/Rear Beam Mounting Bush/1526.html
http://5.159.225.202/road-series/product-details/PowerAlign Camber Bolt Kit (12mm)/11194.html
http://5.159.225.202/road-series/product-details/PowerAlign Camber Bolt Kit (12mm)/11194.html

